460 Chopter 7  Methods of Integration
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The integration can be simplified by writing 1 — sin®x = cos® x. After doing thig
substitution, you will obtain
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This form can be integrated by using a half-angle identity or Formula 317 in the

table of integrals. It can also be integrated by parts.

7.5 PROBLEM SET

OFind each integral in Problems 1-54.
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74. An object moves along the x-axis in such a way that its :
velocity at time t is v(f) = sint + sin® fcos? 1. Find the dis-
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tance moved by the object between times 7 = 0 and 7 = 3
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the exact value of the definite integrals in Problems 55-62.
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each integral in Problems 63-72.
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73. Find the average value (to the nearest hundredth) of the fun¢-
tion f(x) = xsin’ x? between x =0 and x = 1. :
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